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18,5128 19.0000 12.1643 19.2468 15.2964 19.3295
9.2766 9.1172

10.1280 9,5521
7.7086 6.9443
6.6079 5,7861
5.9874 5.1433
5.5914 4.7374

©5,3177 4.4590

-5.1174, 4.2565
4.9646 4.1028
4.8443°3,9823
4.7472 3.8853
4.6672 3.8056
4.6001 3,738%
4.5431 3.6823
4.4940 3.6337
4.4513 3.5915
4.4139 3,5546
4.3807 3.5219
4.3512 3.4928
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"4,3009 3.4434
4.2793 3.4221
4.2597 3.4028
4.2417 3.3852
4.2252 3.3690
4.2100 3.3541
4.1960 3.3404
4.1830 3,3277
4.1709 3.3158
4.1213 3.2674

4.0847 32317

4.0566 3.2043
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2.8951

-2.8661

2.8401
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2.5027
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2.4729
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6.2561 6.1631
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3.0254 2.9153
2.9582 2.8477
2.9013 2.7905
2.8524 2.7413
2,.8100 2.6987
2.7729 2.6613
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2.6848 2.5727
2.6613 2.5491
2.6400 2.5277
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2.5868 2.4741
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2.5336 2.4205
2.4851 2.3718
2.4495 12,3359
2.4221 2.3083
2.4004 2.2864
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2.3053 2,1906
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2.4422
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223463
2.3343
2.2852
2.2490
2.2212
2.1992
2.1665
2.1435
2.1263
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13.3710
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3.0717
2.9480
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2.7669
2.6987
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2.5911
2.5480
2.5102
2.4768
2.4471
2.4205
2.3965
2.3748
2.3551
2.3371
2.3205
2.3053
2.2913
"2,2783
2.2662
2.2167
2,1802
2,1521
2.1299
-2.0970
2.0737
2.0564
2.0430
2.0323
2.0164

15.3848
8.8123
5.9988]
4.7725
4.0990
3.6767|
3.3ss1f -
3.1789] -
3,0204
2.8962|"
2.7964
2.7144
2.6458].
22,5876
2.53%7
2.4943
2.4563
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2.3928
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2.3201| ~
2.3002
2,2821
2.2655
2.2501
2,2360
2,2229
2.2107
2.1608
2.1240
2.0958 -
2.0734
2.0401
2.0166
1.9991
1.9856
1.9748
1.9588

2.6802

# L{rus 7
_ ; ‘
gm:ﬁ%%'ﬁ%ﬁ

b

- —




s bEs h

@ ir

ZEHhBRAS

R R WEAR

BE : HEE

/ o

tﬁ\ﬁa:ﬁ

Pitiztig)=a

/\-l-jL%EfEB?j"%FﬁﬁEifE)&%%ﬁ?ﬂ%

fl,u
A i Al MR % K E
0.1 0.05 0.025 0.01 0.005 0.0025 0.001
1 3.0777 6.3138 12.7062 231.8205 63.6567 127.3213 318.3088
2] 1.8856 2.9200 4.3027 6.9646 9.9248 14.G890 22,3271
Il 1.6377 2.3534 3.1824 4.5407 5.8409 L1533 10.2145
4] 1.5332 2.1318 .2.7764 3.7469 4.6041 5.5976 7.1732
5] 1.4759 _2.0150 2.5706 3.3649 4.0321 4,7733 5.8934
6] 1.4398 1.9432 2.4469 3.1427 3.7074 4.3168 5.2076
7| L.4149 1.8946 2,3646 2.9980 3.4995 . 4.,0293 4.7853
B8] 1.3968 1.8595 2.3060 2.89465 3.3554 3.8325 4.5008
9] 1.3830 '1.8331 2,2622 2,8214 3.2498 3.6887 4.2968
~ 10| 11,3722 1.8125 2.2281 2.7638 3.1693 3.5814 4,1437-
11| 1.3634 1.7959 2.2010 2.7181 3.1058 3.4966 4.0247
12 1.356} 1.7823 2.1788 2,6810 3.0545 3.4284 3.929%6
13| 1.3502 1.7709 2.1604 2,6503 3.0123 3.372s 3.8520
14| 1.3450 1.7613 2,1448 2.6245 2.9768 3.3257 3.7874
15| 1.3406 1.7531 2.1314 2,6025 2.9467 31,2860 3.7328
16| 1.3368 1.74%9 2,1199 2.5835 2.9208 1.2520 3.6862
17| 1.3334 1.7396 2.1098 2.5669 2.8982 3.2224 3.6458
18] 1.3304 1.7341 2.1009 2,5524 2.8784 1.1966 3.6105
19 1.3277 1.7291 2.0930 2.5395 2.8609 3.1737 1.5794
20| 1.3253 1.7247 230560 2.5280 2.8453 . 3,1534 31.5518 |.
21 1.3232 1.7207 2.0796 2.5176 2.8314 3.1352 1.5272
=22 1.3212 1.7171 2.073% 2.50031 2.81448 3,1180 3.5050
23| 1.3195 1.7139 2.0687 2.4999 2.801) l.lo40 "3.4850
24| 1,3178 1.7109 2,0639 2,4%22 2.7969 31,0505 3.4668
25] 1.3163 1.7081 2,0595 2.4B51 .2.7874 3.o782 3.4502
26| 1.3150 1.7056 2.0555 2.4706 2.7187 3.0669 3.4350
271 1.3137 1.7033 2.0518 2.4727 2.7707 1.056% 3.4210
28] 1.3125 1.7011 2.0484 2.4671 2.763) 3.0469 3.A082
29| 1.3114 1.8991 .2.0452 2.4620 2.7564 3.0380 3.31962
30| 1.3104 1.6973 2.0423 2.4573 2.7500 3.0298 3.3852
35| 1.3062 1.6896 2.0301 2.4377 2.7238 2.9960 3.3400
40| 1.3031 1.6839 2.0211 2,4233 2.7045 2.9712 3.3069
45] 1.3006 1.6794 2.0141 2.4121 2.6896 2.9521 3.2815
50| 1.2987 1.6759 2.0086 2.4033 2=6778 2.9370 It 2614
60| 1,2958 1.6706 2,.0003 2.3901 2.6603 2.9146 3.2317
70| 1.2938 1.6669 1.9944 2.,3808 2.6479 2.8987 3.2108
a0 1.2922 I.6§41 1.9901 2.3739 2.6387 2.8870 3.1953
90| 1.2910 1.6620—1-9867 2.3685 2.631s 2,.8779 3.1833
100| 1.2901 1,6602 1.9840 2.3642 2.6259 2.8707 3.1737
200( 1.2858 1.6525 1.971%9 2.3451 2.6006 2,8385 3.1315
300( 1.2844 1.6499 129679 2.,3388 2.5923 2.8279 1.117%6
400| 1.2837 1.6487 1.3659 2.3357 2.5882 2,8227 3.1107
500( 1.2832 1.6479 1.9647 2.3338 2.5857 2.,8195 3.1066
600 1.2830 1.6474 1.9639 2.3328 2.5840 2.8175 3.1039
F00( 1.2828 1.6470 1.9834 2.3317 2.5829 2.8160 3.1019
B00| 1.2826 1.6468 1.9629 2.3310 2.5820 2.8148 3.,1005
900| 1.2825 1.6465 1.9626 2.3305 2.5813 2,8140 3.0993
1000| 1.2824 1.6464 1.9623 2.3301 2.5808 2.8133 3.0984
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(I) Shqr't Answ‘er (h % each)_ o

]~ What are the drfferent ways to control access to data, computers and networks"
2 - Compare and contrast the waterfall and spiral approaches to the 1mp1ementatron of

. the SDLC.- - S .

3 Drstrngursh between business processes that cross functronal areas of business and

" those that are specrﬁc to functlonal areas. _ LT ’
4\ What role does OLAP play inaDSS? 7 T

5+ What Al-related techniques.other than expert systems and neural networks are

-

begmmng to attain promrnence? . .

6 - What-is de-skilling? Explarn whether information systems necessarily lead to
de-skrlhng of their users‘7 Lo

-

7- Explam the relationship between competrtrve advantage and competitive necessrty"
8  What technology trends have enabled IT-based innovation in busmess"
9 » What new orgamzatlonal strucrures ex1st in organizations?- -

10 » What.aré the major advantages and d1sadvar1tages of integrated ERP software as

= =

- compared lo best—of breed vertlcal software" g : -

B

- -~ = -

¢ - . ' - -

(I)Please compare and contrast 'rreural computihg and'goni/entional computing?[ZS%]
- (III)Please (l)define Intemet Cornmumty" [5%] (2) list its main four types"[lO%] (3)
by what ways it can create value"[lO%]
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10. 'What does the foliowing C program print? o : . .
#include <stdio:h> R T R -

#define LOW 0 . )
#define HIGH 5 . R
#define CHANGE 2 ) AT BTN

void workover(int); : MR I
int reset(int); . Y S
Temy

inti=LOW, .

. .‘ _l x -:JJ."- $ f.'-.‘ :-iu
void main() . , A PR
{ ‘ -

auto int i = HIGH; vrin Y e

reset(i/2); . ' .‘
reset(i=i/2); .-

- . - L ol
i = reset(i/2); q ' . AT AR
workover(i); ) '
print{"%d\n", i); .
S : Tl N TR TS YR R oo
void workover(int i) oL .;u-'-" R L L :
i={%D*@*)/2*i)+4) -t
} | s
¢
int reset(int i} i ' . IR A RN
{ ; . ) 3 D o,
. Ty A
i=i<= CHANGE‘?H[GH LOW B O T
return(i); - oo ey
} Sttt
A5 @®e (C) 7 (D) 8 (EH9 ‘ AT S
' affoam A g -
11. 'What does the followmg C program print?
#include <stdio.h> Aot v Ll e
. :

int a[] = {0, 1, 2,3, 4};
int *p|] = {a, a+1, a+2, at3, at4}; ) B SO P 1T A S O SAIE
int **pp = p; ‘

void main(}

{
*ppt;
printf("%d\n", **pp);

W B ©2 O3 @4

Forowem L = ]
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12, What does the followmg C program pnnt?

13.

#include <stdio.h>

char *c[1= {

IIE’N‘]:ER"’
IIN’EWH’
"POINT",
"FIRST"

h

char **cp[] = {c+3, c+2, ¢+1, c};

char **¥cpp = cp;

void main()
{

**++cpp;

printf{"%s\n", *--*++cpp+3);
}

(A)ER. (B)NT (C)ST (D)NEW

What does the following C program print?
#include <stdio.h>

void main()
{
static struct S1 {
char c[4], *s;
} sl = {"abc", "def"};
static struct S2.{
char *cp;
struct S1 ssl;
} g2 = {“ghi“, {"jkl", umnou}};

printf{("%s\n", ++s2.ss1.8);
}

(A) ghl (B)jkl

-
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14.  What does the following C program print?
#include <stdio.h>

struct 81 { - o - vyt -
char *s; - . ‘ ol
inti; . , N T =
struct S1 *slp; = ) - ‘ t

I ' ]
,

void main() : ‘ R
{ . - . ' PR
static struct S1 a[] = { o~ - i e
: _{"abcd",’l, at+l}, : ‘
{"efgh", 2, a+2}, . _ e .
{"ijk1", 3, a} Ty
b
struct 81 *p=a; |

o
printf("%s\n", a[--(p->slp->i)].s); . .
} . R B i, rooat
_ \ EEPIGH SR M
(A) dbcd (B) efgh(C)ijkl (D)cd (E)gh” S
. , . - 1 ] b T,
. * - L L o
- ) r
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15. What does the following C program print? SR pwe s fe it -
#include <stdio.h> P S
- .structS1{ PR
char *s; ’ . e
~- struct S1 *slp, . » . 'l
B - YOI '
i void swap(struct S1 *, struct S1 *); . . !
VOid maino ) ) . ".‘fl} P T
{ .__ ' .
- static struct S1 af] = { '; T
{"abcd", at1}, . LI
{"ef !l, a+2}, .:‘ } f: .,‘.;t “..
{Ilijklll, a} . f:’ rl ) PR
|4 . . . “ .
_ struct S1 *p[3]; ter e
int i; '
- R S N -
- for (i1=0;i<3;i+)
pli] = afil.s1p; .
swap(*p, a) . S B A O
printf(*%s\n", (*p)->sl p->s),
}
void swap(struct S1 *p1, struct S1 *p2)
{ .
. struct S1 temp; .
" temp.s = pl->s;
pl->s = p2->s;
p2->s = temp.s;.
}

(A)abed By efgh (C)ijkl (D) fgh (E)jkl

16. How many Class C networks can there be‘?

@2° ®2". O O @7

— g -

17. Suppose we dlgltlze voice at 8000 samples/s, where each sample is 1 byte How long will it take
to fill an ATM cell?
({&) 6ms (B) 12ms (C) 18ms (D) 24ms (E) 30ms
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A voice channel takes 30KHz, including a guard band that provides protection agamst small drifis

. in transmission frequericy. If we divide the listening area into square Celis, so-that no two adjacent

19.

20.

21.

22,

23.

25,

cells that share a side use the same frequency band, how many srmultaneous calls can the -
25-MHz spectrum support in a city with 250 cells? -

(A)8,000 (B)15715 (C)26,875 (D)33,215 (E)41,500 S

What is the peak throughput achievable by a source employing stop-and-ivéit flow control when
the-maximum packet. size is 1000 bytes, and the network spans 10KM? _.
(A)22.07Mbps _ (B) 35.08Mbps (C) 47.96Mbps omere geon .
(D) 63.27Mbps ~ (E) 84.03Mbps . ] R ‘
Let T(A,B,C,D,E/F) be a relation schema with associated set F = {A — B, C - DF, AC - E,D
— F} of functional dependencies. What is highest normal forin that reIatlon Tisin?' -

(A) INF (B) 2NF (C) 3NF (D)BCNF . (E)4NF -

Let R = {(1, 2), (2 2), (2, 3)} bearelatron on 1he set {1, 2 3} What is R+ ‘the transmve closure
of R?

(A {(1,2),(2,2),(2,3), (1L, 1)} ®){(1,2),2,2),2, 3), @352)} - )

© {(1,2),(2,2),(2,3),(1,3)} D) {(1,2,(2,2,,3).3, 1) G, 3)} )

® {(1,2), (2,2),(2,3), (1,3), (2 1)}

Which of the following p’rciperties does the relation < on the set of integer have?
L. Reflexive  IL Transitive A III. Symmetric -~  IV. Asymmetric ~

(A) None (B)IandITonly (C)IMandIV only '

(D) L, 11, and IV E LI, and IV ‘

A regular expression that denotes all strings of 0’s and 1’s that have at least two consecutrve 0’s is

(A) (1+01)*00(01+1)* (B) (0+1)*00(0+1)* (C) (0+1)*01*0(0+1)* Lo .

® 1*00(1+01)*(0+1)"' (B (1+00)* '
‘s-A0B 1 .
A—BBj . " ' o 4
B - AA|l . "

What is the number of terminal strings of length 5 generated by the context-free grammar shown

‘above?

A4 ®5 ©6 ®7 @8

Consider a. program with five virtual pages, numbered from 0 t0 4. The program pages are
referenced in the.order . .

0123014012347
If there are four page frames in the memory and all page frames are mltlally empty, how many
page faults will occur? _ .

A8 B9 (10 Ol (E)I12

e r—

ot e
e




" —— e, e

%;%ﬂﬁk% L - w FAeEER

o - B HEH LA

}Emnﬁﬁﬁﬁj:fﬁlm%%ﬁ% - BHE ar:etmm )

———— - ~ o s omm = e e R w A - —— - e e wmm A et m - - oA

||

Ny b - -

26 The oomputers and networks that form the bas1s for the emergmg mformatwn economy are
knownasthe , - . T I TP e
-. '(A) information infrastructure, ~ © -~ . e e
Pt " (B) broadband network. . .. -,.-. . - . R
t (C) Intemnet.
|

- -y -

(D) World-Widg Web .-, -.. = - . , , = cnt L e s
(E) Ethernet. T et Ca L 2 e e
27. Using technology to extend the educat10nal process beyond the walls of the school is known as
L (A) expanded learning.
’1- - (B) telecommuting. | . T TP - T
- (C) distarice learning. TS ,
' (D) local area networking. R . P A
) (E) wide area networking. B SR

i,
+

-
- »

28. Any computer program can be constructed from these thrée control structufes.
| (A) looping, sequence, and default - - )

(B) sequence, selection, and repetition

(;. (C) debugging, stepwise refinernent, and top-down S . A
. (D) pseudocode, refinement, and default o e
i (E) decision syntax and selection . _— ..

29. A program that isa collectlon of data and mstructlons and thet can, send and receive messagesis |

(A) visual programming, -
' (B) high-level progra.mmmg b
! .+ {C)low-level programming... . .- - .
:f- © . (D)macro programmmg e - e .
: (E) object-oriented progremmmg S .

30. Which of the following is a tool that allows analysts and programmers to automate many ofthe
| tedious and error-prone steps involved in turning design specifications into programs?

‘ . (A) amacro .
: .. @®seL ‘ .
K . T (QJCASE - - T T Bt e TR e
(D) software engmeermg . ;
‘ (E) stepwise refinement . . o SR .

31. Which of'the following hids tradltlonally been‘conducted using EDI enterpnsew1de messaging
systems, fax communication, bar coding, and private LAN and WAN systems? ’

(A) Business alliance ' . S -
(B) Business'strategy " 7 .-ttt TF IR et :"~ R
(C) E-commerce | VAP "y

i I PR ORE € ) B L] I Y :
(D) E-mail RIS :

(E) Transborder data flow
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Multiple choice. Choose the one alternative that best completes the statement or angwers the question,

(fgEE24) %ﬁ‘*’l‘ﬁ‘ﬂ Tmt ame il i it S ULeR AR PAVERR G0 u Gy lupapnnta gl >

et i NG Y =T 5.. P 'wae Fr by it (G rdy e o+d FE LD
1 . ) .o f’ﬂi}‘{(.) (0 (ED - (AN

-~ 1
a
-
[

3 f Il VST

o Tausdt ¥ ity ‘u adh & f gty mamal. 0 Lasrtenon e el £ R couze A 2
/’il:m- h ¥E oo f u._.ms PRI Loy ot.nrqotm”na afs ¥lin

vd 1
Lol ;'-"il;i-'.i' 140 ;‘Li'@
/ \ TR RSN s (vt LI
E " h’ v-‘lf‘ i.\_n
et et SEGTC TR T & [T wrichieigmi P"*’m 180 i ;;‘.'Htfi w0 T fuidy
’ / \ (b‘r": 7 ‘%ﬁ\lﬂluﬁ] niunt sandesln vl -, niog

N iy il e Y - P L

- . SATw-g
Which of the following arithmetic expressions corresponds d1rectl)fto the arse tree Fa 8
P el Vol S
given by the diagram in the figure above? ’ o :‘:‘ g 3
(A) 2a-0) . L oTe )
(B) 23—20 ' - ] 'l “-:: ‘,- ) :.:_i )
(©) 2(a+b)—c+d - . e Yoy ()
@) 2((a+b)-(c+d) . ;\_‘f;;;ﬁ_g -
(E) 2(@+b)—2(c+d)  tes mewenen
2. Which of the following statements must be true? . i e e TR sy 2o g _
. |x]=[x]ifand only ifx is an integer. AR ‘:'m ',:l o 1:1::;1' ”
IL.. x|+ 1=[x] ifand only if x is not an mteger T e
0. Lx|[y]=[x]Ly]forall x,y. - 0 TOT slls it
Iv. dxl=[x]forallx. ' LD 4 ur ok

T3 o0 AF L onlisht

(A) IVonly (B)IandIVonly (C)L I, and Il only e 3

O) LI, and [Vonly “(BE)LILIH,and IV .
s 7ol n
3. - Consider.a computer system in which processes can request and release one or more resources.
Once a process has been granted a resource, the process has exclusive use of that; resoyrce until it.
is released. If a process requests a resource that is already in use, the process enters a queuenfor
that resource, waiting until the resoirce is available. Which of the following wil. NO:];deal
effectively with the problem of deadlock? < (S e
(A) Gwmg priorities to processes and ordermg the wait queues by prlonty AT
(B) Having-a process request all its required resources when it first- begms ‘a‘r‘rd restartmg if it
cannot obtain them all - SibsY et
(C) Numbermg the resources and-requiring t.hat processes request resources in order of
increasing number- n
(D) Having processes time out and restart afier a random interval of waiting dmhaa
(E) Having the operating system momtor the wait queues and restart processes to break -

!
_deadlocks RUITE RS AN 2 TR T IR

4(1‘:& -l‘rd'I

¥
+

[
L. Y
Ay YD My o{ff)  Lass

-

-
~ -
—re— % T 7




R

— —

==

LY -
-

o ’-gtm‘ \ i3

s

T N v e et ikt %"ZH(%’ )E‘“
L B 5F>F P I T 3
= AL SR 3 r«a_-,x,:a_g

| _.../\;h.ijﬁ ﬁnﬁﬁﬁﬁiﬂf)&;« %\f‘-ﬁ

-

o - e -

E

nnizsup aift Hansnn 10 Jr9n.alel alﬁ ab:slqmm

"4, In a language in which operations are associated nght-to-left instead of
(ie,a+b+c=a+(b+c)), the value ofthe expressnon 7-(16/ (3 + 1) *

@A) 1(3)1(0)3(D)7(E)9

3,

-C by . Mo e
' typedef struct node *NodePtr ; P -
- * 7 struct node { intval; S
. . NodePir next; 3 ™~
Whlch of the folIowmg is a correct 1mplementat10n in Cof the operatlon ‘l‘msert p after q” where g
pomts to alist element and p points to’ &n element to be inserted? ,/ \.~
> > >
(A) gPnext=p next; . p Y . ,d .
P'>"€-w q;. :
(B)." q:-2ngt 2 P—‘>”ex*w:q_,uh ahﬁmimnammam 23 00N aniwolics s ta i '-.’v‘!
- p->next = nex : “VO F1 S -luc'ﬁ l.' m u'l.I'laﬂlb \Jﬂ-‘ U LA :_}
©) q->next= p, TR A ~ SIS BN LL Vo
- p->next = q->next i .~ ' 38 (‘:'i
- - > ' ’ e
©) gzzz: ; nets Lo b a-{E oS i,
3 } . E . P { -+ — iR N 7
(E) ponext=q; . e U‘b._'._ ﬂ(- (d .U’\T W
Lo . th F 0¥~ (G +8). ‘(3)

q->next = p->next

- - R -

F I v

Fﬁ*f”é‘ TR
R

isd Il mwrﬁnn saads aanod'i) Lofe T30 + 1 n b

LR 2B

-t - ghp
i *1

-

6. What does the following C program. print? Seut ed Jaum anemRE yawollcl edito Ime

sroen i o R ydnabar Elel=ba

incluge, <Stdlo-h>~ R 1’3mmna?on At dnvhuwt [xl=T7+0- &
#defitie LOW 0~ S vl by lxl=[ell] 5
#define HIGH 5 o " hswfel=lek ¥
#define CHANGE2, . & | '

int reset(mt), <

mtl—LOW -

-7 . -t .
AL TN x.r .

e THGLL] SN 1D w0 s Sl ¥ :'.1'3[’54 niyes 20T BT

o ao T boe 1T ()

’rru‘ﬂ bos L{¥0 vips Wi o0
F'-ﬂ bog A1 ,H J()  yno Vibag b a5

o T TANQIN 3 e

i m‘vmd mamO uiliio sn s fuubes s penamq sl QUMOLOT G <Ay 2 FIA € Sl TR B

FQ {n. e ’1Jjaﬁ ?r

=

reset(i/2); -
eset(l"“l/Z) {iﬂﬂuu LU e.;bahp

:

printf("%d\n", 7);
} J!‘J Pl Y | o Nflhu,u'*a

-

451 ;.'Eh

o At et ol s sl 2k edh o viner- L £
e gt iRt i i HIGH'IG'} "fh v idV sldsiieys

Gve ot yairels, DS
Laipms resef(l/z),"‘“ i .ﬁ'& i gi Aiur anre byt pa s e

uz*aau:mn b,{':a-"r"
ol ,;_..-Jr_madmmu Ml 90T 20
LLutbechio wolgorg sds diies e'i-a. s
'"z;::mqoj e g e g
:LLOiUJ'[R‘Tn it
< . lu.. sy HYTIP L iV I TU g

. i G | JIm,l I qu's:.. riiead S i ddi :5!«"' i

“""run P (et 7

Zondlt 1\3

]

int reset(int 1) ;ﬂuu.:. 0 lovsart giobag. £1905 5o us i Jme 2 a2edea s w7

O‘vl-! OJ ﬁ:’\

. i=i<= CHANGE? HIGH : LOW;
return(i);

}
@4 ®Bs5 ©6 D)7 .

w0 FuAtzen Lo eeubep Jicw adrolinom w3 v Gl slhani il ¢

Jaofhe

®s . ,
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i

Assume that a llst is Constructed of elements with two fields, val and next, by using the next field
of each élement to point to the next element in the list. If elemerits of the list are charactenzed in

-
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What does the foliowing C program print? .
#include <stdig.h> ) M ig airieiq D Zalwollay edr saob 11V 01
S ST - Leibt> shal.riv

int a[}] = {0,- 1,2,3,4}; .

int *p[] = {a, a+1, a+2, a+3, at+4}; I.’;“ we

int **pp =p; . i e

void main() - ' . gle? 3'1!*111 ':

{ ) ) . LT o - iy - : {
*-]—[-*pp’ y
printf("%d\n", **pp); ( ;.1 fukia

- :

} . i T
@o ®1. 'O O3 @®4 ’ o fle T olgare
R P . 1{1’}’3‘_: " r-u-.“} -=
What does the following C program prmt‘7 . S E‘_ G
#include <stdjo:h> . 75 4 fi"
- d
char *¢[] = { " RURL ARt LT
"ENTER", - i
"NEW“, . nE, r"'-f‘('] H' L rilin- ltfﬁ.;'-\q
"POINT", . . ;
"FIRST" - . dg (Y I}'J{C!; LT a} by -I,_,( ,

}; ' f . .
Char **cp[] =‘{C+3l, CTZ’ C+.15 C};
char ***¥cpp = cp;

void main() - .. =~ e

{ .
printf("%s\n", ¥¥*++cpp);.

}
(AER- (B)NT (C)ST (D)NEW  (E) POINT

B
What does the following C program print?
#include <stdio.h>

4 -
A & A
=

void main(} ' .
static struct ST { - - )
- char c[4’]7.*$; . . - .
} s1=.{"abc", "def"};
static struct S2 { - R
char*ep; . - | ¢
struct S1 ssl; .
} s2 = {"ghi", {"jkI’, "mno"}};

i)tintf(“%s\n“, +3-92.cp);

} S )
(A) ghl (B)jkl- (C)mno (D)KL - .(E)hi -

-

4 -
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#include <stdio.h>

struct S1 {

char *s;

int i;

struct S1 *slp;
b

- void main(}

{

static struct S1 af] = {
{"abcd", 1, a+1},
{“ef n’ 2La+2},
{"ijk1", 3, a}

3

struct S1 *p =a;

printf("%s\n", a[(++p)->i].s);

|
(A) abed (B) efgh (C) ijkl

(D) cd

- 10. What does the following C program print?

(E) gh

“ant
1%
.
-I-.‘ ’! L
M
¢
- o
.

'y or
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11. What'doe§the: followmg C program pr1nt?~ il V ) V:Ju.m[:.- 2 baeganbadrad dao ;
#include <std10 h> I LT e E T T AT B T ,
Im‘“-{\‘ C,, sHeCE-0 (T xHO‘Q-O £ s[eblD ) sHT0(4A) ‘a :
structSl{ . N } ‘
- 20 8 LT kg 4 s ﬁ.c.ud i a3 hrig id yinke tan difve did )20 auonmﬁurr,::’ss enwbiean) S |
iy 'struct ST *slp'm'ﬂ il o ‘l,m o ogR2057, 75 10iaB167u 4 A u-bas bos ame.ido-na ;

b% Wtk gt lmhm A it YUIRNGMOD sy620%t R HMROS «i bsnopat
void swap(struct S1 ¥, struct S1 ¥); HEGED DIk (M SSE(D) BlE &8 'y . ;

VOld mamom..:ma.'f.aii:Lu.“..\,,.u TR ]| e v L A E B P P v;_,_:,.nmjld. o s Il‘;‘dh 21
{41 i, jl.m ‘-‘IU‘ B IFmL d-.f-ui\‘v bﬂi‘d d"m d iGo1 a0 1‘11.1«-3.;.’,{0'; un'fr-l,ﬂga JIOExSh G
statlc struct STa[]=1 ' *- T s TREIOATEY nrw i e 10T BGdmED 0 1
. {"abed", a+|1]} { ﬂflliﬂlwmil () GIQLOLLY b[ll (P GLTOOTTOGELT ca}
{"efgh", a+2}, R - 1UUJI"‘JI;¢ SRR CH S {Q
{"jkl",.a} o : ‘
RETEh LY dwtﬁldl"ﬂ s f_u O alish ¢ Aﬁl Tallsd eldving l—GH 21 LR atlal gdito riojdW Of
struct S1 *p[31]; . Conuitzn
int 1, - by ’Ul‘{‘-ib x—i) bopun \J! -Lmucb-@]’-., faimsus {A)  Ipfiind (AY

i3 3oy (,f'—- «,r.agul.;q.)':z nw'l‘ (;m.' r2 it 10 5q5am00 oot o biasd o nolurd gl 02
PniEZ B2 [} rglpm'{ums T 10 oJI3aiey gdi 301 noniwiitendys gis 4.0 ldehing - J
Swaf)(#pqa):\ f:s.{ o W »{lr.x Lo iRzsxe vt gaiw oot il al Issiirobi olesi!

prn’, (P SRR O L
. SR S AL
} [ i b - - N ‘(_) 1 _"'i} th

void swap(struct Sl *p 1; Sﬁ-u'ct s]{:i-pz)d.t:ﬁmu o L 6} 2 Lot estn o wrath 1o oIl
. oo (1104

" struct S1 temp, , m ) _ o *{[n’: au . Hd;
T Tt T - s n M)

temp.s = pl->s; g v (LY bae (7.0 Q)
pl->s=p2->s; . QI Bag (I D0 J) ()

x

p2->s = temp.s; )
LS} 352072 070 j..a*f 1nsqed o2 bra 2'0%0 eaziats le #aroush seds ereemagny, sclimet {18

A) abed ef €)'kl (D) T kl':’}u Gty - RIS Y Y.
(A) (B) éfghi» (€)j 9)) gh (E)y :'.‘-ﬂ)u} ti+ﬂ)*(ﬁl'~mu o

12, Suppose w¢ dlgmze voxce at 8000 samPles/s, where each sample is | byte How long will it take
" "’to il a'SOO—byte-packet? ot RMSA 1T sf‘li‘ wnna vsoniog 260 <M wab . L.ﬂs canzp 00

(A)'32ms 2 (BY 46’5msr~* reye: SmSOHD(D) 87 (E) 11255a7s0ui €3 horts 28 nebad oy

Cvania eobai odionq: 8 steset ot b:.uu- k) ensebizgmon io “Jdmﬂ'l

13. Which add:ess‘clas“s iShe TR Addredst 135TI0R 5 2 vt (D) (MM () ST 35, LA)
A) Class A ClassB (C)ClassC (D) ClassD ) Class E

ul(uﬂ)ub du Jlu'i ‘rhCEZ HIves 1&1 mnu(ﬂn_,hé 12 i-r. s Uy -' [V ) I } Aw(;_E ‘_!J b..ﬂ l-ﬁ[l' J .o ndl..r".-ﬂ .’:g i

14, Wit i lS thé Hamming'distafice’ betweenrt‘IOI 101"%nd #011101%7 &} wro S noilslr ads

(A1 - (B) 2 (©3 (D)4 )5 . Sevpd ’3 2a0h eaitiogorg giddoliol

. GivihenstT V sivigaltof 1 wilommyeaunA Il voammy? 1
15. Whatis the it (Mbps) of a DS34ifk?E bae. [0 Z4  ¢lne W bna IE{T) oA (L :
(A)8.448 °  (B)34.368 (C)44.736 (D) 139.264 Li(E) 2741176 V1Ibos UL L( }

. STodas w . .
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16. A binary SIgnal of rate 500bps is to be transmitted pver a communications channel, Assume that
only the fundamental frequency of the worst-case sequence is to be received, what | is the
minimum bandwidth required? -

(A)0-75Hz (B)0-145Hz (C)0-250 Hz (D) 0-325Hz (D) 0-500 Hz

17. Consider an asynchronous data link with one start bit and two stop bits per character anda single
start-of-frame and end-of-frame character per message. What is the number of additional bits
required to transmit a message comprising one hundred 8-bit characters?

(A)278 (B)316 (C)322 (D)416- (E)474 )

18. A series of 8-bit message blocks is to be transmitted across a data link using a CRC for error
detection. A generation polynomial of 11001 is to be used. Which of the followmg will be
transmitted for the message 111001107 e,

(A) 111001100110 (B) 111001101010 (C) 111001101100 , .
(D) 111001100011 (E) 111001100111 R

19. Which of the following is NOT a process maturlty level defined by the Soﬁware Engmeermg
Institute? )

(A) initial  (B) repeatable (C) defined (D) managed (E) approved

20. Deduction in Prolog is based on the concept of unification. Two expressions E and F are said to
be unifiable if there are substitutions for the variables of E and F that:make the expressions
lexically identical. In the following three expressions, only W, X, Y and Z are variables.

L f(WW)
I X 1)
L. £(Y, g(Z))
Which of these expressions is (are) pairs of unifi able expressions?
(A) 0, I) only
(B) (1, I1I) only
(C) {1, HI) only
(D) 1, II) and (I, I11) only
(E) (I, ID), (1, TID), and (1L, I1T)

21. A regular expression that denotes all strings of 0’s and 1s that have at least t\;U'O consecutive 1’s is
(A) (0+10)*11(10+0)* (B) (0+1)*11(0+1)* - (C) (0+1)*10¥1(0+1)*
(D) 0*11(0+10)*(0+1)* (B (0+11)* )

22. Assume that a data file has an index consisting of N items, where N is large. If a binary search of
the index is used to find.an item, then, of the following, which best approximates the mean
number of comparisons required to locate a specific index entry?

(A) N+1)/2  (B) N(N-1)2 (C) (logzN)-1 (D) NlogaN . (E) (N+I)/logaN

23. A relation can be defined by g1v1ng the ordered palrs of elements for which the relation holds. If
the relation R over {a, b, c}-is givenbyR = {(a, a), (a, b), (b, a), (b, b), (c, ©)}, »yhlch of the
following properties does R have? -

I. Symmetry II. Antisymmetry III. Reflexivity IV Transntlwty
(A) None (B)IIand Il only (C)II and IV only .
D)L 10, and IV (E) IL III, and IV

- e e e
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35. Data management, model management, and d:algg management are the major gqmppnents 0{
this system that a manager can use interactively'tc’ refrieve and mampulate lielevant data ”
(A) Decision reporting system ) Pui b7
(B) Management decision system FLSLAIE L, 2 e LaLA
(C) Decision support system ATl
(D) Management reporting system
(E) Management information system
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36. Whlch of the followmg is not a true statement? ° e * . s ,..l ', .
is l j ¥ y .t

(A) Two different users might access the same server using com‘pletelyw_ .
different client applications with different user interfaces. 3 o v - PO

(B) In a client/server model, the client might reside on your, PC or the host n =
comPUter } L2 nnr, - .'l'i- .-

(C) Working with Internet applications is the same as workmg with word
_processors or, spreadsheets because of the, d}stqhuted nature of the .
* Infernet and the client/server inodel used by most Internet
applications.

(D) In a client/server model, the server might reside on the same host
computer as the client, or another host computer elsewhere on the” T
network. . .

v "
KB EPTTA SRR P
' J,In" A ( ¥

L Mag ql— . ‘.-“ 3

(E) All of the above statements are true, -t
5, |_l e e l’ U LY L F 1“"“!"" Y 1 _ '1 ' ; 'T ast 1' wt ' -.
37. Whlch ‘of the followxrfg is a'true staternent?” st m e ,_.] o .r.-,,‘ b

(A) With object-onented graphlcs, when moving and removmg parts ‘of plptures
it is easier to work with regions rather than objects, especially if those
objects overlap. L s e e TS s

(B) Object-oriented graphics magnify pixels for fine detail editing angl U (’1.
bit-mapped graphics magnify objects. poate '

e feas

(C) With bit-mapped graphics the printer's resolution is hmxted only by the S
outputdevice.- 4y -k 9 R LCITVE At B VR I -i -l
(D) All of the above statements are true. L reepesaler | Loyt
(E) None of the above statements are true. L N At L T
Gz et Saasoate g Lo
38. PCwaveform audio recordings oﬂ:en lack the crystal-clear, ﬁdehty of compact dlgl-q;ecordmgs
due to differences in the A% 2y codest s
(A) hardware medium rate. :
)Waveformrate SRR TSP SN SN & STTIE SRR LR TE AR AT |
(C) sampling rate. . et it d g
(D) digitizing rate. Dot 55 oy
(E) signaling rate. S (T,
R T P ¢

39. These fonts are stored in the printer's ROM and are always:available for.use. with; that printer.
(A) scalable outline fonts
(B) screen fonts
(C) printer fonts
(D) soft fonts
(E) bit-mapped fonts
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40.

41.

42,

" 43,

44,

43.

-

Which of the' followmgls notaWIMP advantage? T T . e S :," -
(A) they are forgiving T . " '".r . . : N
(B) they use a command-line interface R BN
(C) they are protective e e e AT
(D) they are consistent R S
(E).they are flexible LT e

Addmg together different aniounts of red, green‘, and blue light to form colors is called .-
(A) mixing synthesis,. U e s ‘,". - e
(B) additive color synthesis. =~ 0T € LT ML m e TRl e
(C) subtractive synthesis.” ~_ "~ -~ ™ . s IR
(D) Both B and C.are corréct: =~ C e s T SR
(E) None of the above.ls correct ' e i AR

2 z . . "
LR T T » - R e -

Using multiple processors to d1v1de _|obs into p1eces and worlc sunultancously on the pieces is

T

(A) multitasking, R R
(B) doubling, K e .- . ME
(C) parallel proceséinig, "=+ © 7 ot mEe o et ek z e ]
(D) concurrency. o ' meLUL T T
(E) RISC processing. o . Tee

Which of the following can be described as a gateway with a lock that guards agamst

unauthorized access to an mternal nctwork‘? Yoot e s e T
(A)afirewall ** . " R S L
(B) a drawbridge™ ° : o L B
(C) access-contro] software - ) o R
(D) an electronic guard dog~ " < "+ 7" e e et T
(E) None of the above is correct” . ..-'L- T Pty v
. W . It - Bt e . .
The traditional type of cryptosystem used on computer networks is the -~ * -
(A) encoded secret key system. e T
(B) symmeiric secret key system. R
(C) decrypted secret key system. . , '
" (D) enicrypted-sécret key System. i . o L 0t 2
(E) enforced secret key system. LU s A

In this type of network, each user can make files publicly available to 6ther users on the network.

(A) LAN model L
(B) client/server model e,
(C)NOS .
(D) peer-to-peer model

* + (E) None of the above-is-correct. 4 = 7 oo e . er 8




ﬁﬂ;ﬂ@t[ﬁ‘)

\'y the

BIEZHBE XS © RERER - TEN
5

46,

47.

48,

49,

E SR L ARSI B ¢ SRR (2)

Fa

Which of the following is a server-side, HTML embedded scripting language used to create
dynamic Web pages. It can perform any task any CGI program can do, but its strength lies in its
compatibility with many types of databases,

(A).SSI

(B) JavaScript .

(C) PHP -

(D) VBScript

(E).Java applet

What is the result of performing a one-bit left circular shift on 5C ( which is represented in
hexadecimal notation )? Give your ahswer in hexadecimal form:
(A) 57
(B) B8
(C) 6F
D) 6A

(E) None of the above is correct.

An organization thattends to limit its decision making to following the standard operating
procedures developed over tlme hasa

(A) political style.

(B) bureaucratic style.

(C) rational style.

(D) garbage can style,

(E) reflective style.

The following bytes were originally coded using odd parity, In which of them do you know that
no error has occurred ? .

- (@ 10101101 (b) 10000001 (c) 00000000 (d) 11100000

50.

(A)ab
(B)bc
(C)ad
D)cd
(EB)ac.

Which of-the following travels independently over computer networks, seekmg out umnfected
workstations to occupy?

(A) worm

(B) logic bomb

(C)-Trojan horse

(D) stalker

(E) macro virus
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